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Quiz 3 

 
1. An insulated piston-cylinder device contains 0.005 m3 of saturated liquid 

water at a constant pressure of 150 kPa. An electric resistance heater inside the 
cylinder is now turned on, and 2200 kJ of energy is transferred to the steam. 
Determine the entropy change of the water during this process. 
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2. An insulated piston-cylinder device contains 0.05 m3 of saturated refrigerant 
134a vapor at 0.8 MPa pressure. The refrigerant is now allowed to expand in a 
reversible manner until the pressure drops to 0.4 MPa. Determine (a) the final 
temperature in the cylinder and (b) the work done by the refrigerant. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


